

اختر الاجابة الصحيحة

$$١ - \text{المقدار} \quad \text{س} ٢ - ٤٩ =$$

$$(٧-٧)(٧+٧)$$

$$(١-٤٩)(١+٤٩)$$

$$(٧-٧)(٧+٧)$$

$$(٧+٧)(٧+٧)$$

$$٢ - \text{المقدار} \quad \text{س} ٢ - ١٤٤ =$$

$$(١٢-١٢)(١٢+١٢)$$

$$(٤-٢٦)(٤+٢٦)$$

$$(١٢-١٢)(١٢+١٢)$$

$$(١٢+١٢)(١٢+١٢)$$

$$٣ - \text{المقدار} \quad ١ - \text{ص} ٢ =$$

$$(١+١)(١+١)$$

$$(١-١)(١-١)$$

$$(١-١)(١+١)$$

$$(١-١)(١+١)$$

$$٤ - \text{المقدار} \quad \text{س} ٢ - ٩ = ٤$$

$$(٢-٣)(٢+٣)$$

$$(١-٩)(١+٩)$$

$$(١-٣)(١+٣)$$

$$(٢-٣)(٢+٣)$$

$$٥ - \text{المقدار} \quad ١٦ \text{س} ٢ - ٢٥ \text{ص} ٢ =$$

$$(٥-٤)(٥+٤)$$

$$(٥-٤)(٥+٤)$$

$$(٥+٤)(٥+٤)$$

$$(٥-٤)(٥-٤)$$